"2 Inb/GeV]

t

¢’/ dN"dp

=
o
R

Ratio to ATLAS

|_
1071

1074

0.5

13000 GeV pp tt
=L | I A
= top . . 15
- P, (ATLAS semileptonic ttbar) 13
B =
| m ATLAS Hs

--6-- Pythia 6.428 345 N
| & Pythia 6.428 346 13
— —A— Pythia 6.428 370 P
~ m Pythia 6.428 default o
L —A— Pythia.8.308 default - '02:
- 1=
- — M
— N
- i Nep)
<
- 10
(9]
- —
=
X
— - @©,
— —c
- -1 ©
= <
L o
— — o
)
= 8
o
(&)
= B | | | | | -
— 42
1
| —0.5
| 1 1 L 1 1 L | L 1 1 L 1 L 1 L |
0 500 1000

pt"= [GeV], N = 6



	Contents
	Page 1


